LABJNDu? triangle lightnesst*
Ync YW nc_loox

t* LaBINDU7 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t(3.6)=174 1* ,(18)=396t*(90)=616

* =49, t* =39¢

t =613, 73 Al
L
143,671 73,94 tA=3¢

LABJINDu7
tristimulus value difference

Yoc=Yw - nc=100,
L ABaNDU7=[IN[(A 10+A2RY)V(A 20A 0n)] (Yad/100<Y<=Y0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
Yg0=0,68, Ay,=1,500, ¢=0,84
dY;=0,15, A=0,017, Agn 0,008 .
dY36=0,05 Y,=18, dY=0,15 4

application
range

1y,=18
Yw=90

Yn=3.6

log (AY/Y) LABJNDu?7
_ tristimulus value sensitivity

SHEYY Yoc=Yw - nc=100,
tLaganDu7=[IN[(A 1n+A2n V(A 2rA0n)] (Yac/100<Y<=Y,o)
AY/Y=AgnA 1n+AYTY

(dY/Yp=.6075. A=1,500, ¢=0,84

(dY/Y)g=0,,787, Am_o Oy Ag 0,0048

(dY/Y} 0,014 V.=18, dY=0,1

Q
log(dY/Y)=-2,05 m=-0, oo s

t*,=396 dY,=0,15 dY,/Y,=0,00871
1

application
M N Kange

1
1Y,=18
Yy=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu7
tristimulus value contrast
Yac=Yw - nc=100,
L aBINDU7=IINI(A 1n+A2)I(A 20A0n)] (Ya/ 100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}yo=131,72, A=1,500, ¢=0,84

&
(Y/dY)g=114.61, A=0.017, A,=0,0048
(YIdY} 69,48 218, d=0.15

range
Y,=18
e

1
: application
1

—_—

Yn=3.6

ter LABJINDuU? relative triangle lightnesst*/t*,,

t/t* u Yoc=Yw nc=100,

t*LaBINDU7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t*\(3,6)=174 1 ,(18)=396*/(90)=616

Ut =185, Ax=1.500. 60,84

{19 =100, Ar=0,017, A,=0,0048

3 gt*(=0,43,t,=395,50 Y1

log[t*/t* ,]=0, m,=0,33
1
1 application
f range
1y,=18
Yy =90

I M\=36

LABJNDuUTY relative
tristimulus value difference

Yne=Yw nc=100,
t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

dYor/dY,=4.35, A=1.500, 608

Y, g/dY, =0,017, ! 04
deQdY 032\‘?1 =18 dY= 82,

log (A YIAY,)
AYIAY,

>
-
t*,=398 dY,=0,15 dY,/(,=0 J087 ¢ ®

log [(AY/Y) I (AYIY)] LABJINDuU? relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,
t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
@YIYYAYIY,=(AgtAg Y)Y AYIYY]

(AY/Ypo/(dY. V=3, 27 An=1,500, ¢=0,84
(dY/Y)g/(dY/Y);~1.00, A =0,017, A=0,0
(dY/Y%d(dY/Y 1,04 V218 dY=0.15

048

log[(dY/YY(dY/Y),]=0, m=-0,15 7

t*,=396 dY,=0,15 dY,/Y,=0,0087

1y,=18
=Clp log

application
range

Y236
log [(Y/AY) I (YIAY),] LABJINDu? relative
- tistimulus value contrast
Gl =(YIAV)(YIAY), o 2 S Y2 L 50,
t*Laganpu7=IN[A 10+A2nV)II(A 20A0n)] (Yno/100<Y<=Y, )
YIAYYCYIAY ), =(YI(YIAY )A on(Arn+As I (Y/Y),
(Y/dY)g/(Y/dY)=1,14, Ay=1,500, ¢=0,84
(YIdY)g/(Y/dY)=1,00. A r=0,017. A,=0,0048
(Y/dY} ¢/(Y/dY)=0,6Q Y,=18 dY=0,15

application
range

1y,=18
Yw=90

TN=oib




